- o
il
g
e LU -
53 <l G =
mqmw M mf 1 = = Iﬂ:a
wT P n = o sg W o
- a1 oF ™ Hl SEL 3 F 1
D 3 B e B W a2 L B T
-] H.. =_._ w_|= __ KF m____u__:m = Eﬁ =)
LI = < i . o« OHU ar I Ml 2 o UH
M W g mw m 3 I
o & e Ao A=k R T -
Br | I oy b =z K = . T
T = 5 il < R o
s mr R Al = Ol = = = -
| = = o - NS H._._L._ oF) s k| -+ ey
.0 0 0 = <0 Nk i 7= o o+ ol mwﬁ Bl
— EN " ol it = Ik a7 I iEl E =
o ~ 1= i m a@ B i 5w z
J N Ho F = Bl Eoon [ o
— BT e = M Ay OF mo M Z; 07 1]
= =T ! _._._Eg__u P o E m o8 =0 O
M__HWE i an THu .mww_hmﬁ ol =i =
LH T gl o _“__.Mm_ £ EEk 34 _%ﬁgﬂﬂ
— = ke =n A S B Wb o i
. v iy = o oM o RO fon o O oF ol E R =
d Fed ) _._._._ = 7w o = BFl o k Hi ol = = i
AT Fr aF a3 & g2 2 Bl z1 1N H m__._._x_. L
[0 Kl =0 = of .k ujo yunl.ﬂA_.___w 1 ! =)
=i Eﬁm _.AI |__H|”_ FEE_L T = MLHDI_HNI % M_ULD_H il
Gl itk = koo o 2 __HomDMMm_m w R =59z
e mzm_umin it ol wr U o 2K A= b o o Ho 2 o
- mﬁoé, = - 0 Ho KT K0 o zg Y oar = i zo o = =3
- — &0 - = I Ao — Ol H g = or il = u._ﬂu
Ny m”_;_._“_};m = = == ™ BL40 ™~ ol o or
|I,= 0 B ILu%#r:J H RS
.l//////// T = = o B o B 5 ki il o
| i | ® =5 G&a il g g SRUE
_u__||mu_=__. K ;m_ux|o i o= M i e e ] = oI =l R
IHA:_:_ il _.IM v [ - m_ﬁa_ﬂn 5 o am_L_u_%_.m
* by = ﬂﬂ.rrur = r iy
{0 m_@ m:m.? z_u_ﬂ_hémmn Exﬂ_uw_ﬁw ﬂ%m_a_
. 22 5T v R = cl =_._I=__= W 5y 1Al S IL) a1
=5 ﬂmﬂ =oig,
[ u.MlL Hl qp T = H
_ g R nﬂﬂﬁar___w m:u_mmu
¥ ™ T = Um
;._.E% .
| *

MElE 2



— &2 st9 4| = 4 0jH|, et e| B
A2FErelol XHE= A 2E

aj
i

I}

Iz
an
|0
U
2
ol
=
Ofm
rE
izt

r

2. ZEUS Mz I H| 2| T

-BIS EZF0| 2| 25E 0 2= E22 2 0000 7 E=2+0 225 MEE E20
Olz CUE DASHE A%, =28+ A AlZH0| FE0{X|A] g0}
= QM Et=R 2 B

=R
>
=
i
{5

[
o
[€5]

= 0 H - = A=
oIop MY TE R=2 HlEE +&7Y e A
SUHE S5, 24, HE LR Y B, HAEHE S
~Efolof, #2UTH £ F2 TAEH W USH eI Fal $27Y0 F2S F0 US
= Z A0 WY FHEe| HZDEE WE, A Re AAE THEE S AT H S HE S
o L

O 2 F0l| theh ZICtEE | E2(2E 2| 25 H2A| T

-2 FA AFEe |5 7|22 22 HE =22 60% 0|4r0| Holol o oF 3HH,
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HEH HAEE MY UEt HHAE FEFI MEH HES= EME U R rE 282 &1
H ZHA|ZFBFR| g Y 2H, 25 20 AE S2H ZHEEIE W2 &
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(RUEHIFIEVEL N =2 2HH 71 F22 T U2 20| S 013, M2 23
HEo| HEHIIZ 712 L MHEF Aoz i
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MRP ZE2HE T &, 10% 0| &2 BH S &7t B8 H20|H, FAF A 2 HI1HE] S

CIF JIZ= bk T2 MRP Value JIZ 230 20Ml =2

150.00 260.00 (MRP 2321

1.80 (landing charge 1%)

+ 18.18 (basic rate) + 26,00 (basic rate)

+ 20,00 (cwd add.) + 28,60 (ovd add.)

+ 0.40 (E.cess on CVD) + 0.57 (E.cess on CVD)

+ 0,20 (S &H E.cess) + 0.29 (3 &H E.cess)

+ 0.78 (E.cess on all duty) + 1.11 (E.cess on all duty)

+ 0,39 (C. § &H E.cess) + 0.55(C. 5 &H E.cess)

+ _8.87 (SAD) + 12.68 (SAD)

48.81 (CIF Jt32] = 27.12%) 69.81 (CIF 282 = 38.78%)
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